10.27.15

Solve each equation. Check each answer by substituting the
value(s) back into the equation.

k* + 5k + 6
k2 + 7k + 10 '-3-

(k> +:}K~HD) K*}sktl
K> +z K+30 *?kt‘g o=l b7 6(1 L
_Kl - -

zk"Hlak'TZ”( o 2\




10.29.15

Solve each equation. Check each answer by substituting the
ue(s) back into the equation.
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11.2.15

Solve the equation. Check each answer by substituting the
value(s) back into the equation.
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11.4.15

Solve the equation. Check each answer by substituting the
value(s) back into the equation.
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